# On Relations for the Partitions of Numbers 

Busra Al ${ }^{\text {a }}$, Mustafa Alkan ${ }^{\text {a }}$<br>${ }^{a}$ Department of Mathematics, Akdeniz University, Antalya, Turkey


#### Abstract

In this paper, we present some interrelations among some restricted and unrestricted partitions of integers. Mainly, we derive new effective formulas for the partition function and compare our partition formula with well known recurrence formulas. Moreover, as the number increase, we observe how effective the new recurance formulas are.


## 1. Introduction

Over the centuries, there has been widespread interest in the partition of an integer which is one of the most fundamental problems in number theory since the rich history of partition of a number has been gone back to cornerstones mathematicians Euler, Jacobi and S. Ramanujan. Also many useful applications of the partition of an integer has investigated in many branch of mathematics ([1], [7], [10], [11], [16]). The partition function to be studied is the number of ways $n$ can be written as a sum of positive integers $n$. Euler investigated the generating function of the number of partitions of an integer $n$ as follows;

$$
\begin{equation*}
F(x)=\prod_{n=1}^{\infty} \frac{1}{\left(1-x^{n}\right)}=\sum_{n=0}^{\infty} p(n) x^{n} \tag{1}
\end{equation*}
$$

where $0<x<1$ ([5, Theorem 14.4]). But using Euler's recurrence, for the value of $p(200)$, we need to compute all values of $p(n)$ where $1 \leq n \leq 199$. The main problems are both numbers of steps and larger of numbers founded in each step since increasing of $p(m)$ is faster than increasing of an integer $m$ and so the recurrence formulas that compute the values of the partition with the help of the smaller integers are much useful and effective. It is naturally to ask whether we may work out the value of $p($.$) with the help of the$ smaller integers. After Euler's recurrence for the partition of an integer, at recent years recurrence formulas have been improved by J.A.Ewell and M. Merca ([8, Theorem 1.2], [12, Theorem 1]).

In the literature, the restricted partitions are substantial as unrestricted partition of an integer ([3], [6], [13], [14], [15]). The generating function of the number of partitions of an integer $n$ into odd part is

$$
\prod_{n=1}^{\infty} \frac{1}{1-x^{2 n-1}}=\sum_{n=0}^{\infty} Q(n) x^{n}
$$

[^0]The generating function of the number of partitions of an integer $n$ into distinct odd parts is

$$
\prod_{n=1}^{\infty}\left(1+x^{2 n-1}\right)=\sum_{n=0}^{\infty} Z(n) x^{n}
$$

In this paper, we study some relations among $p(),. Q($.$) and Z($.$) and obtain some new recurrence relations$ for $p(),. Q($.$) and Z($.$) . Mainly, we define a new function for recurrence relations and so we present formulas$ for the partition function. Then we compare our partition formula with well known recurrence formulas to show efficient of new ones.

In this paper, we use the notation $\mathbb{Q}(\mathbb{N}, \mathbb{Z})$ for the rational numbers, (natural numbers, integers) and $a \mathbb{Z}=\{a t: t \in \mathbb{Z}\}$. We also adopt the convention that $p(0)=Q(0)=Z(0)=1, p(n)=Q(n)=Z(n)=0$ whenever $n \in \mathbb{Q}-\mathbb{N}$ and $0<x<1$. We recall the following special cases of Jacobi's identity which are used later frequently.

$$
\begin{align*}
& \prod_{n=0}^{\infty}\left(\left(1-x^{2 k n+k-t}\right)\left(1-x^{2 k n+k+t}\right)\left(1-x^{2 k n+2 k}\right)\right)=\sum_{m=-\infty}^{\infty}(-1)^{m} x^{m(k m+t)}  \tag{2}\\
& \prod_{n=0}^{\infty}\left(\left(1+x^{2 k n+k-t}\right)\left(1+x^{2 k n+k+t}\right)\left(1-x^{2 k n+2 k}\right)\right)=\sum x^{m(k m+t)} \tag{3}
\end{align*}
$$

## 2. The relations among partitions

In this section, we study some interrelations among some restricted and unrestricted partitions of integers. We start a well known identies as follows:

$$
\begin{equation*}
\prod_{n=1}^{\infty}\left(1+x^{n}\right)\left(1-x^{2 n-1}\right)=1 \tag{4}
\end{equation*}
$$

for a positive integer $n>1$, we also have a well known identies

$$
\begin{equation*}
Q(n)=\left(\sum_{i=1}^{\left\|\frac{n}{2}\right\|} p(i) Q(n-2 i)\right)-p(n) \tag{5}
\end{equation*}
$$

Moreover, using Equation 4, we get the connection between the number of partitions of an integer $n$ into distinct odd parts and the number of partitions of an integer $n$ into odd part.

Proposition 2.1. For a positive integer $n \geq 1$, we have

$$
\begin{equation*}
Z(n)=\sum_{j=1}^{n}(-1)^{j} Q(j) Z(n-j) \tag{6}
\end{equation*}
$$

Proof. Substituting $x$ by $(-x)$ in Equation 4, it follows that

$$
1=\sum_{n=0}^{\infty}\left(\sum_{j=0}^{n}(-1)^{j} Q(j) Z(n-j)\right) x^{n}
$$

Therefore, equating coefficients of same powers of $x$, we obtain the desired conclusion.

To get new recurrences for the partitions of an integer, we focus on the number of partitions of an integer $n$ into odd part to find relation between $p($.$) and Q($.$) .$

Theorem 2.1. For a positive integer $n>1$, we have

$$
\begin{aligned}
& Q(2 n)=p(n)+\sum_{\substack{t=1 \\
t,(t-3) \in 4 \mathbb{Z}}}^{2 n-1} p\left(n-\frac{1}{4} t(t+1)\right) . \\
& Q(2 n-1)=\sum_{\substack{t=1 \\
(t-1),(t-2) \in 4 \mathbb{Z}}}^{2 n-2} p\left(\frac{1}{2}(2 n-1)-\frac{1}{4} t(t+1)\right) .
\end{aligned}
$$

Proof. If $k=t=\frac{1}{2}$ in Equation 3, then we get

$$
2 \prod_{n=1}^{\infty}\left(1+x^{n}\right) \prod_{n=1}^{\infty}\left(1-x^{2 n}\right)=\sum_{m=(-\infty)}^{\infty} x^{\frac{1}{2} m(m+1)}
$$

Then the series product leads to the following identities

$$
\begin{aligned}
\sum_{n=0}^{\infty} Q(n) x^{n} & =\frac{1}{2}\left(\sum_{n=0}^{\infty} p(n) x^{2 n}\right)\left(1+\sum_{m=1}^{\infty} x^{\frac{1}{2} m(m+1)}+\sum_{m=1}^{\infty} x^{\frac{1}{2} m(m-1)}\right) \\
& =\frac{1}{2} \sum_{n=0}^{\infty} p(n) x^{2 n}+\frac{1}{2} \sum_{n=0}^{\infty}\left(\sum_{t=1}^{n} p\left(\frac{1}{2} n-\frac{1}{4} t(t \mp 1)\right)\right) x^{n} \\
& =\frac{1}{2} \sum_{n=0}^{\infty}\left(p\left(\frac{n}{2}\right)+\left(\sum_{t=1}^{n} p\left(\frac{1}{2} n-\frac{1}{4} t(t \mp 1)\right)\right)\right) x^{n} .
\end{aligned}
$$

Now we can observe that

$$
p\left(\frac{n}{2}-\frac{1}{4} t(t+1)\right)=p\left(\frac{n}{2}-\frac{1}{4} l(l-1)\right)
$$

when $l=t+1$ and so we get

$$
\sum_{t=1}^{n}\left(p\left(\frac{n}{2}-\frac{1}{4} t(t+1)\right)+p\left(\frac{n}{2}-\frac{1}{4} t(t-1)\right)\right)=2 \sum_{t=1}^{n-1} p\left(\frac{n}{2}-\frac{1}{4} t(t+1)\right)
$$

Therefore, we obtain the equation

$$
Q(n)=p\left(\frac{n}{2}\right)+\sum_{t=1}^{n-1} p\left(\frac{n}{2}-\frac{1}{4} t(t+1)\right)
$$

On the other hand, it is easy to check that
$i$ ) if $n$ is an even number then $\frac{1}{4} t(t+1) \in \mathbb{Z}$ if and only if $t$ or $(t-3) \in 4 \mathbb{Z}$. Then we get $p\left(\frac{n}{2}-\frac{1}{4} t(t+1)\right)=0$ if and only if 4 divide $(t-1)$ or $(t-2)$.
ii) if $n$ is an odd number then $\frac{1}{4} t(t+1) \in \mathbb{Z}$ if and only if $(t-1),(t-2) \in 4 \mathbb{Z}$. Thus it follows that $p\left(\frac{n}{2}-\frac{1}{4} t(t+1)\right)=0$ if and only if 4 divides $t,(t-3)$.

The conclusion follows upon equating coefficients of the same powers of $x$.
Theorem 2.2. For each positive integer $n$,

$$
Q\left(\frac{n}{2}\right)=p(n)+\sum_{k=1}^{n}(-1)^{k}\left[p\left(n-\left(2 k^{2} \mp k\right)\right)\right]
$$

Proof. If $t=2, l=1$ in Equation 2, we have

$$
\prod_{n=1}^{\infty}\left(1-x^{4 n}\right)\left(1-x^{4 n-1}\right)\left(1-x^{4 n-3}\right)=\sum_{n=-\infty}^{\infty}(-1)^{m} x^{2 m^{2}+m}
$$

and then it follows that

$$
\prod_{n=1}^{\infty} \frac{1-x^{n}}{1-x^{4 n-2}}=\sum_{n=-\infty}^{\infty}(-1)^{m} x^{2 m^{2}+m}
$$

By the product, the foregoing identity yields

$$
\begin{aligned}
\sum_{n=0}^{\infty} Q\left(\frac{n}{2}\right) x^{n} & =\sum_{n=0}^{\infty} p(n) x^{n}\left(1+\sum_{m=1}^{\infty}(-1)^{m} x^{2 m^{2}-m}+\sum_{m=1}^{\infty}(-1)^{m} x^{2 m^{2}+m}\right) \\
& =\sum_{n=0}^{\infty}\left(p(n)+\sum_{k=1}^{n}(-1)^{k} p\left(n-\left(2 k^{2} \mp k\right)\right)\right) x^{n} .
\end{aligned}
$$

Upon equating coefficients of the same power of $x$, we prove our desired conclusion.
Now we define a notation for the product of generating functions and also investigate same fundamental properties of this function with infinite product on the series representations.

Let $H(x)=\sum_{n=0}^{\infty} h(n) x^{n}$ be a generating function. Then $H^{2}(x)=H(x) H(x)$ has a series form and $H^{2}(x)=$ $\sum_{n=0}^{\infty} h(2, n) x^{n}$. Then by Cauchy product, it follows that

$$
h(2, m)=\sum_{i=0}^{m} h(i) h(m-i) .
$$

Now we focus on whether the integer $m$ is even or not. Thus we have

$$
\begin{aligned}
& h(2,2 t)=(h(t))^{2}+2 \sum_{i=0}^{t-1} h(i) h(2 t-i) \\
& h(2,2 t+1)=2 \sum_{i=0}^{t} h(i) h(2 t+1-i)
\end{aligned}
$$

Theorem 2.3. For a positive integer $n$, we have

$$
Q(2, n)=\sum_{k=0}^{n} p\left(n-\frac{k^{2}+k}{2}\right) .
$$

Proof. If $k=t=\frac{1}{2}$ in Equation 3, then we get

$$
\prod_{n=1}^{\infty}\left(1-x^{n}\right)\left(1+x^{n}\right)^{2}=\sum_{k \in \mathbb{N}} x^{\frac{k(k+1)}{2}}
$$

and so

$$
\sum_{k \in \mathbb{N}} x^{\frac{k(k+1)}{2}} \sum_{m=0}^{\infty} p(m) x^{m}=\left(\sum_{n=0}^{\infty} Q(n) x^{n}\right)^{2}
$$

Then the product leads to the following identities

$$
\sum_{n=0}^{\infty}\left(\sum_{k=0}^{n} p\left(n-\frac{k^{2}+k}{2}\right)\right) x^{n}=\sum_{n=0}^{\infty}\left(\sum_{j=0}^{n} Q(j) Q(n-j)\right) x^{n}
$$

and comparing the coefficient of $x^{n}$ for an integer $n$, we have that

$$
\sum_{k=0}^{n} p\left(n-\frac{k^{2}+k}{2}\right)=Q(2, n)
$$

Now, we focus on new recurrence formulas for the partition function. By Theorem 2.2, we get the following result:

Corollary 2.1. For any odd positive integer $n$, we have

$$
p(n)=\sum_{k=1}^{n}(-1)^{k+1} p\left(n-\left(2 k^{2} \mp k\right)\right) .
$$

Now using this notation, we can obtain recurrence formulas for the partition function as follows;
Theorem 2.4. For a positive integer $m$, we have

$$
\begin{aligned}
& \left.p(2 m)=p(2, m)+\sum_{t=0}^{\| \sqrt{\frac{m}{4} \|}}\left[p\left(2, m-4 t^{2}-7 t-3\right)\right)+p\left(2, m-4 t^{2}-9 t-5\right)\right] \\
& p(2 m+1)=\sum_{t=0}^{\left\|\sqrt{\frac{m}{4}}\right\|}\left[p\left(2, m-4 t^{2}-3 t\right)+p\left(2, m-4 t^{2}-5 t-1\right)\right] .
\end{aligned}
$$

Proof. Combining Equation 5 with Theorem 2.1, for any integer $n$, we get that

$$
p(n)=\sum_{i=0}^{\left\|\frac{n}{2}\right\|} p(i)\left[p\left(\frac{n}{2}-i\right)+\sum_{t=1}^{\|\sqrt{n}+1\|} p\left(\frac{n}{2}-i-\frac{1}{4} t(t+1)\right)\right]
$$

Then using division algoritm, we can rewrite the second sum on the right equation as

$$
\begin{aligned}
&\|\sqrt{n}+1\| \\
& \sum_{t=1}^{\|} p\left(\frac{n}{2}-i-\frac{1}{4} t(t+1)\right)=\sum_{d=0} \sum_{r=1}^{4} p\left(\frac{n}{2}-i-\frac{1}{4}(4 d+r)(4 d+r+1)\right) \\
&=\sum_{d=0} \sum_{r=1}^{4} p\left(\frac{n}{2}-i-d-2 d r-4 d^{2}-\frac{r^{2}+r}{4}\right)
\end{aligned}
$$

If $n=2 m$ then it follows that

$$
\sum_{r=1}^{4} p\left(m-i-d-2 d r-4 d^{2}-\frac{r(r+1)}{4}\right)=p\left(m-i-7 d-4 d^{2}-3\right)+p\left(m-i-9 d-4 d^{2}-5\right)
$$

since $p(x)=0$ whenever $x$ is not positive integer. Then we have

$$
\sum_{t=1}^{\|\sqrt{n}+1\|} p\left(\frac{n}{2}-i-\frac{1}{4} t(t+1)\right)=\sum_{d=0} p\left(m-i-7 d-4 d^{2}-3\right)+p\left(m-i-9 d-4 d^{2}-5\right)
$$

and so

$$
\begin{aligned}
p(n) & =\sum_{i=0}^{\|m\|} p(i)\left[p(m-i)+\sum_{d=0}\left\{p\left(m-i-7 d-4 d^{2}-3\right)+p\left(m-i-9 d-4 d^{2}-5\right)\right\}\right] \\
& =p^{2}(m)+\sum_{d=0}\left\{p\left(2, m-7 d-4 d^{2}-3\right)+p\left(2, m-9 d-4 d^{2}-5\right)\right\} .
\end{aligned}
$$

If $n=2 m+1$ then using the same argument, we have

$$
\sum_{r=1}^{4} p\left(\frac{2 m+1}{2}-i-d-2 d r-4 d^{2}-\frac{r(r+1)}{4}\right)=p\left(m-i-3 d-4 d^{2}\right)+p\left(m-i-7 d-4 d^{2}-5\right)
$$

Thus the we complete the proof.
From [5, page 309], we recall that the number of partitions of $k$ into parts not exceeding $m$ is denoted by $p_{m}(k)$ for integers $m, k$. Then $p_{m}(k)=p(k)$ for $m \geq k$. It is clear that $p_{m}(k)$ is less than $p(k)$ and the computation of $p_{m}(k)$ is simpler for integers $m, k$. The generating function for the number of partitions of $k$ into parts not exceeding $m$ is defined as

$$
F_{m}(x)=\prod_{i=1}^{m} \frac{1}{1-x^{i}}=1+\sum_{i=1}^{\infty} p_{m}(i) x^{i}
$$

Theorem 2.5. For any positive integer $m>2$, we have

$$
p(m)=\sum_{i=1}^{\|\sqrt{m}\|}\left(p_{i}(m-i(i+1))+(-1)^{i+1} p\left(m-\frac{5 i^{2} \mp 3 i}{2}\right)\right) .
$$

Proof. By [10, Theorem 363], we recall that

$$
\prod_{n=1}^{\infty} \frac{1}{\left(1-x^{5 n-2}\right)\left(1-x^{5 n-3}\right)}=1+\sum_{m=1}^{\infty} \prod_{i=1}^{m} \frac{x^{m(m+1)}}{\left(1-x^{i}\right)}
$$

Let $k=\frac{5}{2}$ and $t=\frac{3}{2}$ in Equation 2. Then we get

$$
\sum_{m=-\infty}^{\infty}(-1)^{m} x^{\frac{5 m^{2}+3 m}{2}}=\prod_{n=1}^{\infty} \frac{1-x^{n}}{\left(1-x^{5 n-2}\right)\left(1-x^{5 n-3}\right)}
$$

Hence it follows that

$$
\begin{equation*}
\left(\sum_{n=0}^{\infty} p(n) x^{n}\right)\left(1+\sum_{k=1}^{\infty}(-1)^{k}\left\{x^{\frac{5 k^{2}+3 k}{2}}+x^{\frac{5 k^{2}-3 k}{2}}\right\}\right)=\left(1+\sum_{m=1}^{\infty} \prod_{i=1}^{m} \frac{x^{m(m+1)}}{\left(1-x^{i}\right)}\right) \tag{7}
\end{equation*}
$$

Now rearranging the left side of Equation 7, we get

$$
1+\sum_{m=1}^{\infty} \prod_{i=1}^{m} \frac{x^{m(m+1)}}{\left(1-x^{i}\right)}=\sum_{n=0}^{\infty} p(n) x^{n}+\sum_{n=0}^{\infty} p(n) x^{n} \sum_{k=1}^{\infty}(-1)^{k} x^{\frac{5 k^{2}+3 k}{2}}
$$

$$
\begin{aligned}
& =\sum_{n=0}^{\infty} p(n) x^{n}+\sum_{n=1}^{\infty}\left(\sum_{k=1}^{n}(-1)^{k} p\left(n-\frac{5 k^{2} \mp 3 k}{2}\right)\right) x^{n} \\
& =\sum_{n=1}^{\infty}\left[p(n)+\sum_{k=1}^{n}(-1)^{k} p\left(n-\frac{5 k^{2} \mp 3 k}{2}\right)\right] x^{n} .
\end{aligned}
$$

Now rearranging the right side of Equation 7, we get

$$
\begin{aligned}
1+\sum_{m=1}^{\infty}\left(\prod_{i=1}^{m} \frac{x^{m(m+1)}}{\left(1-x^{i}\right)}\right) & =1+\sum_{m=1}^{\infty}\left(x^{m(m+1)}\left(1+\sum_{i=1}^{\infty} p_{m}(i) x^{i}\right)\right) \\
& =1+\sum_{n=1}^{\infty} x^{n(n+1)}+\sum_{m=1}^{\infty} \sum_{i=1} p_{m}(i) x^{m(m+1)+i} \\
& =1+x^{2}+\sum_{m=3}^{\infty} \sum_{i=1}^{m} p_{i}(m-i(i+1)) x^{m} .
\end{aligned}
$$

Comparing the coefficient of $x^{n}$ in Equation 7 on both sides, we complete the proof.

## 3. Further Remarks and Observations

In the last section, we compare the recurrence formulas in Theorem 2.4 and Theorem 2.5 with recurrence formulas of both Euler and Ewell.
i) At each step of Euler's recurrence formula, we need to calculate the values of the partition of $p\left(n-\frac{3 i^{2} \mp i}{2}\right)$ for all $0 \leq i \leq n$ and so requires $\left\|\sqrt{\frac{88}{3}}\right\|$ of the values partitions. Then to compute $p(n)$, we must reckon all elements of the set

$$
E S=\{p(i): 0 \leq i<n\} .
$$

We shall illustrate this with the numerical examples $n=21$;

$$
\begin{aligned}
p(21) & =p(20)+p(19)-p(16)-p(14)+p(9)+p(6) \\
& =627+490-231-135+30+11=792
\end{aligned}
$$

ii) At each step of Ewell's recurrence formula, computation of $p(n)$ requires $\|\sqrt{2 n}\|$ of the values $p(m)$, $0 \leq m<n$ which is less than Euler's recurrence but to compute $p(n)$, we must reckon all element of the set

$$
E W S=\left\{p\left(i-2 t^{2}\right): 0 \leq i, t \leq n\right\} .
$$

To compute $p(21)$, we must investigate every elements of the set

$$
E W R=\{p(19), p(17), p(15), p(13), p(11), p(9), p(7), p(5), p(4), p(3), p(2), p(1)\}
$$

and so we obtain

$$
p(21)=2(p(19)-p(13)+p(3))+p(5)+p(0)=792 .
$$

iii) The number of steps which are need to calculate the partition of an odd integer $n$ in Corollary 2.1 is less than that of Euler's recurrence and the largeness of the numbers founded at each step is less. By Corollary 2.1, it follows that

$$
p(21)=p(20)+p(18)-p(15)-p(11)+p(0)+p(6)=792 .
$$

iv) At the first step of recurrence formula in Theorem 2.4, we need to figure out the values of partitions of $p\left(\frac{n}{2}-i\right)$ for all $0 \leq i \leq\left\|\frac{n}{2}\right\|$ and so find $\left\|\frac{n}{2}\right\|$ of the values partitions. To compute $p(n)$, we must reckon every elements of the set $N R=\left\{p(i): 0 \leq i \leq\left\|\frac{n}{2}\right\|\right\}$. Therefore the recurrence formulas in Theorem 2.4 that compute the values of the partition with the help of the smaller integers are much useful and effective. Since computation of $p(n)$ requires the set $N R=\left\{p(i): 0 \leq i \leq\left\|\frac{n}{2}\right\|\right\}$, the recurrence formula in Theorem 2.4 are more compact and effective. We may demonstrate this by computing $p(2,10), p(21), p(100)$;

$$
\begin{aligned}
& p(2,10)=(p(5))^{2}+2(p(0) p(10)+p(1) p(9)+p(2) p(8)+p(3) p(7)+p(4) p(6))=481 . \\
& p(21)=p(2,0)+p(2,3)+p(2,9)+p(2,10)=1+10+300+481=792 \\
& p(100)
\end{aligned} \begin{aligned}
& =p(2,11)+p(2,17)+p(2,32)+p(2,36)+p(2,45)+p(2,47)+p(2,50) \\
& =190569292 .
\end{aligned}
$$

The biggest value in the set $N R$ is $p(10)=42$ but the biggest value in the set $E S$ (in the set $E W R) p(20)=627($ $p(19)=490$ ).
v) At each step of the recurrence formula in Theorem 2.5, we need to compute both the values of the partition of $p\left(n-\frac{5 i^{2} \pm 3 i}{2}\right)$ and the number of partitions of $k$ into parts not exceeding $i$ for all $0 \leq i \leq n$. Hence we maybe reckon both $\left\|\sqrt{\frac{8 n}{5}}\right\|$ value of partition $n$ and the number of partitions of $k$ into parts not exceeding $i$ for all $0 \leq i \leq n$. Therefore, the computation of $p(n)$ by Theorem 2.5 requires less than value of partition by Euler's recurrence and since $p_{m}(k)$ is less than $p(k)$ for integers $m, k$, we calculate the smaller value and so the recurrence formula in Theorem 2.5 is more effective with smaller integers. By the recurrence formula in Theorem 2.5, it follows that

$$
\begin{aligned}
p(21) & =p(20)+p(17)-p(14)-p(8)+p_{3}(9)+p_{2}(15)+p(3)+p_{1}(19)+p_{4}(1) \\
& =627+297-135-22+12+8+3+1+1=792 .
\end{aligned}
$$

Since the increasing of $p(m)$ is faster than the increasing of an integer $m$, the new recurrence formulas that compute the values of the partition with the help of the smaller integers are much useful and effective. When we compare the size of numbers in the recurrence formulas, the new recurrence formulas maybe more influential. Therefore one might be led to see that the more largeness of the number is, the more effective the new recurrence formulas is.

Acknowledgement. The authors would like to thank to the referees for their valuable comments.

## References

[1] G. E. Andrews, The Theory of Partitions, Addison-Wesley Publishing, New York, 1976.
[2] G. E. Andrews, K. Erikson, Integer Partitions, Cambridge University Press, Cambridge, 2004.
[3] G. E. Andrews, M. D. Hirschhorn and J. A. Sellers, Arithmetic Properties of Partitions with Even Parts Distinct, Ramanujan Journal (2010), 23, (1-3), 169-181.
[4] T. M. Apostol, On the Lerch Zeta Function, Pacific J. Math. 1 (1951), 161-167.
[5] T.M. Apostol, Introduction To Analytic Number Theory, Springer-Verlag, New York 1976.
[6] S. C. Chen, On The Number of Partitions With Distinct Even Parts, Discrete Math. 311(2011), 940-943.
[7] L. Euler, Introduction To Analysis of The Infinite, vol. 1, Springer-Verlag, 1988 (translation by J.D. Blanton).
[8] J. A. Ewell, Recurrences For The Partition Function And Its Relatives, Rocky Mountain Journal Of Mathematics, Volume 34, Number 2, Spring 2004.
[9] J.A. Ewell, Recurrences For Two Restricted Partition Functions, Fibonacci Quart. 18 (1980), 12.
[10] G.H. Hardy and E.M. Wright, An Introduction To the Theory of Numbers, 4th ed., Clarendon Press, Oxford, 1960.
[11] P.A. MacMahon, Note On the Parity of the Number Which Enumerates the Partitions of a Number, Proc. Cambridge Philos. Soc. 20 (1921), 281283.
[12] M. Merca, Fast Computation of The Partition Function, Journal of Number Theory, 164, (2016) 405-416
[13] M. Merca, New Relations For the Number of Partitions With Distinct Even Parts, Journal of Number Theory, 176, (2017), 1-12.
[14] M. Merca, On The Number of Partitions Into Parts of $k$ Different, Discrete Mathematics 340 (2017) 644-648.
[15] M. Merca, A Note On the Partitions Involving Parts of $k$ Different Magnitudes, Journal of Number Theory, Volume 162, 2016, 23-34
[16] G.N. Watson, Two Tables of Partitions, Proc. London Math. Soc. 42 (1937), 550556.


[^0]:    2010 Mathematics Subject Classification. 11P81, 05A17, 05A19.
    Keywords. Restricted and unrestricted partitions of integers.
    Received: 28 January 2019; Revised: 18 March 2019; Accepted: 22 March 2019
    Communicated by Yilmaz Simsek
    This article is dedicated to Professor Gradimir V. Milovanovic on the Occasion of his 70th anniversary. This work was supported by Akdeniz University Scientific Research Projects Unit (FYL-2017-2393)

    Email addresses: busraal0707@gmail.com ( Busra Al), alkan@akdeniz.edu.tr (Mustafa Alkan)

